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SECTION-A  

(GENERAL AWARENESS) 

1. The Attorney General of India is appointed 

by the: 

 (a) Prime Minister  (b) Law Minister 

 (c) President of India  (d) Home Minister 
 

2. Which of the following can not act as a 

bleaching agent? 

 (a) Nitrous oxide (b) Sulpher dioxide 

 (c) Chlorine (d) Hydrogen Peroxide 
 

3. Which table in an operating system 

contains information about all the open 

files? 

 (a) open- file table (b) open-seek table 

 (c) open table (d) open location table 
 

4. The toxic metal associated with the 

Minamata episode is: 

 (a) cadmium (b) lead  

 (c) mercury (d) arsenic 
 

5. The release of which of the following into 

ponds and wells helps in controlling the 

mosquitoes? 

 (a) crab (b) dogfish 

 (c) Snail (d) Gambusia Fish 
 

6. In earth atmosphere which of the following 

continuously decreases with height? 

 (a) Wind velocity  (b) Temperature 

 (c) Pressure  (d) Humidity 
 

7. Which state in India has the largest 

coastline? 

 (a) Andhra Pradesh  (b) Gujrat 

 (c) Tamil Nadu   (d) Maharashtra 
 

8. The crop Development Programme of the 

Government of India covers which of the 

following groups of commercial crops? 

 (a) Tea, Cotton and Rubber  

 (b) Jute, Tea and Coffee 

 (c) Cotton, Jute and Sugarcane 

 (d)  Tea, Coffee and Spices 

 

1. Hkkjr ds vVkWuhZ tujy dh fu;qfDr fdlds n~okjk dh tkrh 

gS\ 

(a) iz/kkuea=h   (b) fof/k ea=h 

 (c) Hkkjr ds jk”Vªifr  (d) xg̀ ea=h 

 

2. fuEufyf[kr esa ls D;k fojatd vfHkdeZd dk dke ugha dj 

ldrk\ 

(a) ukbV ªl vkWDlkbM  (b) lYQj Mkb&vkWDlkbM 

 (c) Dyksfju   (d) gkbMªkstu ijkWDlkbM 
 

3. vkWijsfVax flLVe esa fdl rkfydk esa lHkh [kqyh Qkbyksa dh 

lwpuk jgrh gS\ 

(a) vksiu&Qkby Vscy  (b) vksiu&lhd Vscy 

 (c) vksiu Vscy  (d) vksiu&yksds’ku Vscy 

 

4. ehukekrk ?kVuk ls dkSu&lh fo”kkDr /kkrq tqM+h gS\ 

 

(a) dSMfe;e   (b) lhlk ¼ysM½ 

 (c) ikjn   (d) vklsZfud 

 
5. fuEufyf[kr esa ls fdls rkykcksa vkSj dqvksa esa NksM+uk ePNjksa ds 

fu;a=.k es lgk;d gksrk gS\ 

(a) dsdM+s   (b) MkWxfQ’k 

 (c) ?kksa?kk   (d) xSecqfl;k fQ’k 

 
6. iF̀oh ds ok;qeaMy esa] fuEufyf[kr esa ls fdlesa Å apkbZ c<+us ds 

lkFk&lkFk deh vk tkrh gS\ 

(a) iou osx   (b) rkieku 

 (c) nkc   (d) vknzZrk 
 

7. Hkkjr esa fdl jkT; dh rVjs[kk lcls yach gS\ 

(a) vka/kz izns’k  (b) xqtjkr 

 (c) rfeyukMq  (d) egkjk”Vª 

 

8. Hkkjr ljdkj ds Qly fodkl dk;Z Øe ds varxZr 

fuEufyf[kr esa ls fdu okf.kfT;d Qlyksa dk lewg vkrk gS\  

(a) pk;] dikl vkSj jcM+  

(b) twV] pk; vkSj dkWQh 

 (c) dikl] twV vkSj xUuk  

(d) pk;] dkWQh vkSj elkys 



 

[3] 
 

9. Under the Constitution of India who are 

the ultimate sovereign? 

 (a) President of India   

 (b) Indian People 

 (c) Prime Minister of India   

 (d) All elected leaders of India 
 

 

10. Which of the following does not belong to 

physical environment? 
 

 (a) Lithosphere  (b) Atmosphere 

 (c) Hemisphere     (d) Hydrosphere 

 

11. An Example of a solution of liquid in solid 

is : 
 

 (a) Jelly  (b) Rubber 

 (c) Foam  (d) Smoke 
 

12. Which one of the following is not correctly 

matched? 
 

 (a) Iron ore-kudremukh 

 (b) Copper- Khetri 

 (c) Manganese- Koraput 

 (d) Coal- Singreni 
 

13. Which was the instrument that was played 

by Ustad Bismillah Khan? 
 

 (a) Sitar  (b) Shehnai 

 (c) Santoor  (d) Flute 
 

14. Loss of Water in plants in the form of 

liquid is known as : 
 

 (a) Osmosis  (b) Imbibition 

 (c) Transpiration  (d) Guttation 
 

15. Which memory is both static and non-

volatile? 

 (a) RAM  (b) CACHE 

 (c) ROM  (d) BIOS 

  

 

 
 

9. Hkkjr ds lfoa/kku ds varxZr ije laizHkq dkSu gS\ 
 

(a) Hkkjr ds jk”Vªifr   

(b) Hkkjrh; turk 

 (c) Hkkjr ds iz/kkuea=h   

(d) Hkkjr ds lHkh fuokZfpr usrk 

 

 

10. fuEufyf[kr esa ls fdldk lEcU/k  HkkSfrd  i;kZoj.k ls ugha 

gS\ 

(a) LFky eaMy  (b) ok;qeaMy 

 (c) xksyk/kZ   (d) tyeaMy 

 

11. Bksl esa rjy ds foy;u dk mnkgj.k D;k gS\ 

 

(a) tsyh   (b) jcM+ 

 (c) Qkse   (d) /kqvka 

 

 

12. fuEufyf[kr esa ls fdldk lgh esy ugha fd;k x;k gS\ 

 

(a) ykSg v;Ld&  dqnzseq[k  

(b) rkack&[ksrjh 

 (c) eSxuht & dksjkiqV   

(d) dks;yk& flaxjsuh 

 
 

13. mLrkn fcfLeYykg [kka dkSu lk okn~; ctkrs Fks\ 

(a) flrkj   (b) ‘kgukbZ 

 (c) larwj   (d) ckalqjh 

 

 
 

14. ikS/kksa es rjy ds :Ik esa ikuh dh deh dks D;k dgrs gSa\ 

(a) ijklj.k    (b) fuiku 

 (c) ok”iksRltZu  (d) fpRrh iM+uk 

 

 

15. dkSu& lh eseksjh LFkk;h vkSj fLFkj nksuksa gksrh gS\ 

 

 (a) RAM  (b) CACHE 

 (c) ROM  (d) BIOS 
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SECTION-B  

(ENGLISH) 
In the following questions choose the word 

which is the exact OPPOSITE of the given 

words- 
 

16. ENORMOUS 

 (a) Soft    (b) Average 

 (c) Tiny  (d) Weak 
 

17. ARTIFICIAL 

 (a) Red  (b) Natural 

 (c) Truthful  (d) Solid 
 

18. MORTAL 

 (a) Divine  (b) Immortal 

 (c) Spiritual   (d) Eternal 
 

19. RARELY 

 (a) Hardly  (b) Definately  

 (c) Frequently  (d) Periodically 
 

Pick out the word closest in meaning to the 

given word: 
 

20. OMNIPRESENT 

 (a) Permanent  (b) Ever- Present  

 (c) Temporary  (d) None of Above 
 

21. Align 

 (a) Disunited  (b) Divergent 

 (c) Adjust  (d) Subserviant 
 
 

Choose the correct alternative which can be 

substituted for the below given word/sentence. 
 

22. The person who knows everthing 

 (a) Omnipresent  (b) Omnipotent 

 (c) Omniscient  (b) Oblivious 

 
 

23. A person involving in an activity for 

pleasure and not money is called as         .             

 (a) Amateur  (b) Follower 

 (c) Altruist  (d) Antiquarian 

 

24. A large enclosure for keeping birds’ is also 

called as               . 

 (a) Zoo  (b) Aquarium 

 (c) Aviary  (d) Homicide 
 

Supply suitable preposition/ Phrasal verb in the 

blank of each item 
 

25. Universities in Germany and Denmark will 

have an input              the project. 

 (a) for  (b) into 

 (c) about  (d) at 

 

26. Have gave me a leg          when I was 

completely new to the business. 

 (a) up  (b) down 

 (c) off  (d) for 
 

27. You should have nothing to do with those 

criminals; they all have violent attitudes 

and long records. They are men            the 

same kidney. 

 (a) with  (b) in 

 (c) of  (d) on 

 

Directions (for the 06 items that follow): 

In the following sentences, some parts of the 

sentences have been jumbled up. You are 

required to rearrange these parts which are 

labbeled P, Q, R, S to produce the correct 

sentence. Choose the proper sequence and 

mark in your answer sheet accordingly. 

 
 

28. she and neither have I the assignment yet 

  P            Q             R 

 hasn’t finised 

  S 

 The correct sequence should be  

 (a) QRSP  (b) QPSR 

 (c) PQSR  (d) PSRQ 
 

29. You’ll 

 Know how to do it  have to                     

P   Q 

 Because she does not    help her 

        R     S 

 The correct sequence should be  

 (a) QSPR  (b) SRPQ 

 (c) QPRS  (d) QSRP 
 

 

30. Would you 

 Like to come  on Saturday   

         P      Q 

 at the International House  to the concert 

           R          S 

 The correct sequence should be  

 (a) PQRS  (b) PSQR 

 (c) RSPQ  (d) PQSR 
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SECTION-C 

(APITITUDE  TEST) 
31. The lens of the eye is behind the: 

 (a) Pupil   (b) Vitrcous human 

 (c)  Retina   (d)  Optic nerve 

 

32.  Which of the following is a semiconductor: 

 (a) Silver   (b) copper 

 (c) glass   (d) silicon 

 

33. Milkiness observed on passing carbon 

dioxide through lime water is due to the 

formation of :  

 (a) Calcium carbonate  

(b) Calcium chloride  

(c) Calcium hydroxide    

(d) Calcium bicarbonate 

 

34. Elasticity of demand of luxury goods is: 

(a) Less than one  (b) Infinite 

(c) Zero   (d) More than one 

 

35. The IUPAC name of Formaldehyde is  

(a) Formaldehyde (b) Methanal 

(c) Ethanal  (d)  Methanol 

 
36. The functional (reactive) group in acetic 

acid is  

 (a) >C=O   (b) -OH 

 (c)   (d)  
 

37. On dehydrogenation of alcohol we get the 

compound 

 (a) Acid   (b) Ester 

 (c) Aldehyde  (d) Amine 

 

38. The boiling point of a liquid increase when 

there is  

 (a) decrease in atmosphere pressure 

 (b) increase in atmosphere pressure 

 (c) increase in mass in liquid 

 (d) None of these 

 

39. The place of element of atomic number 17 

in periods table is   

 (a) VII period, VII group 

 (b) III period, VII group 

 (c) IV period, VII group 

 (d) II period, VII group 

31. vka[k ds ysUl fdlds ihNs gksrs gS\  

        (a) प्यूपिल  (b) पिट्रस ह्यूमन 

        (c) रेटिना  (d) ऑप्प्िक निव 
 

32. fuEufyf[kr esa ls D;k v/kZpkyd gS\  

      (a) लसलवर        (b) त ंब  
      (c) क ंच        (d) लसलिकॉि 
 

33. pwuk ikuh esa dkcZu & MkbvkWDlkbM ds xqtjus ij nqX/krk 

fdlds cuus ls fn[kkbZ nsrh gS\ 

    (a) dSfY’k;e dkcksZusV     

    (b) dSfY’k;e DyksjkbM 

    (c) dSfY’k;e gkbM ªkDlkbM     

    (d) dSfY’k;e ckb & dkcksZusV 

 

34. foykflrk dh oLrqvksa dh ekxa dh yksp fdruh gS\ 

  (a) ,d ls de         (b) vlhfer 

  (c) ‘kwU;   (d) ,d ls vf/kd 

 

35. QkWesafYMgkbM dk IUPAC uke gS  

    (a) QkWesafYMgkbM            (b) esFkSuy 

    (c) ,Fksuy                  (d) esFkSukWy 
 

36. ,lhfVd ,flM esa fØ;kRed lewg gS 

(a) >C=O   (b) -OH 

(c)    (d)  

 

37.  ,Ydksgy ds fogkbM ªkstuhdj.k ls ;kSfxd izkIr gksrk gS 

(a) vEy   (b) ,LVj 

(c) ,fYMgkbM  (d) ,sehu 
 

38. rjy inkFkZ dk DoFkukad c<+rk gS 

(a) ok;qe.Myh; nkc ?kVus ij 

(b) ok;qe.Myh; nkc c<+us ij 

(c) rjy dk nzO;eku c<+kus ij  

(d) buesa ls dksbZ ugha 

 

39. ijek.kq Øekad 17 okys rRo dk vkorZ lkj.kh esa LFkku gS 

   (a) VII vkorZ , VII oxZ 

   (b) III vkorZ, VII oxZ  

   (c) IV vkorZ, VII oxZ 

   (d) II vkorZ, VII oxZ 
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40. The basic metal among the following is 

 (a) Na  (b) Be 

 (c) A𝑙  (d) Zn 

 

41. Alkene, among the following is  

 (a) C4H10  (b) C4H6 

 (c)  C4H8  (d) C4H12 

 

42. The Bessemer converter used for smelting 

of copper contains lining of  

 (a) Silica   (b) Lime 

 (c) Iron   (d) Copper 

 

43. The copper ore is  

 (a) Bauxite  (b) Malachite 

 (c) Carnelite (d) Cedarite 

 

44. The volumetric radio of hydrogen and 

oxygenin water is  

 (a) 8:1  (b) 1:8 

 (c) 2:1  (d) 1:2 

 

45. The gas which acts both as oxidizing as well 

as reducing agent is  

 (a) CO2  (b) H2S 

 (c) SO2  (d)  None of these 
 

46. The concentration of H+ ions in a solution is 

2 x 10-8 mole per litre. The pH of solution  

        is-(log102=0.3010) 

 (a) 7.699   (b) 7.578 

 (c) 7.219 `  (d) 7.188 

 

47. The  colour of Phenolphtheline Indicator in 

basic (alkaline) solution is  

 (a) Red   (b) Yellow 

(c) Blue   (d) Orange 

 

48. 1.0 Newton force is equivalent to in a c.g.s 

system  

 (a) 1.0 kg- m/s2  (b) 1.0 Dyne 

(c) 105 Dyne  (d) 1.0 g- cm/s2 

 

49. The unit of linear momentum is   

 (a) N.s  (b) kg-m/s2 

(c) N/s  (d) kg-m/s 

 

40. fuEufyf[kr esa {kkjh; /kkrq gS% 

(a) Na  (b) Be 

(c) A𝑙  (d) Zn 
 

41. ,d ,Ydhu dk lw= gS 

(a)  C4H10  (b) C4H6 

(c)  C4H8  (d) C4H12 

 

42. dkWij ds izxyu esa iz;qä cslsej ifjorZd dk vLrj ¼ykbfuax½ 

gksrk gS 

(a) flfydk               (b) pwuk 

(c) yksgk   (d) dkWij 

 

43. rk¡cs dk v;Ld gS 

 (a) ckWDlkbV  (b) eSysdkbV 

(c) dkWusZykbV   (d) lsMkjkbV 

 

44. ty esa gkbMªkstu rFkk vkWDlhtu dk vk;rukuqlkj vuqikr 

gksrk gS 

(a) 8:1   (b) 1:8 

(c) 2:1   (d) 1:2 
 

45. fuEu esa ls dkSu lh xSl vkWDlhdkjd rFkk vipk;d nksuksa gS\ 

(a) CO2         (b) H2S 

(c) SO2   (d)  buesa ls dksbZ ugha 

 
 

 

46. ,d foy;u esa H+ 
vk;uksa dh ek=k 2 x 10-8 eksy izfr fyVj 

gSA foy;u dk pH gS-(log102=0.3010) 

(a) 7.699  (b) 7.578 

(c) 7.219  (d) 7.188 

 
 

47. {kkjh; foy;u esa  fQuky¶Fksyhu lwpd dk jax gksrk gS 

(a) yky   (b) ihyk 

(c) uhyk   (d) ukjaxh 

 
 

48. ,d U;wVu cy dk lh-th-,l- ;wfuV esa  

 

(a) 1.0 fdxzk eh@ls 2 (b) 1.0 Mkbu 

(c) 105
 Mkbu  (d) 1.0 xzke lseh@ls 2 

 
 

49. js[kh; laosx dk ek=d gS   

(a) N.s   (b) kg-m/s2 

(c) N/s           (d) kg-m/s 
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50. A force of 10 N acts on a body  of mass 2 kg 

for 3 s. initially at rest. The velocity 

acquired by the body 

 (a)  15 m/s  (b)  20 m/s 

(c)  25 m/s  (d)  30 m/s 
 

51. A body moving with uniform acceleration 

travels 84 m in 6s and 264m in 11s. The 

initial velocity of the body is  

 (a)  2.0 m/s  (b)  1.9 m/s 

(c)  2.1 m/s  (d)  3.0 m/s 
 

 

52. Two equal and opossite forces act on a 

moving object. Its motion wil be  

 (a) affected and slow-down 

 (b) affected and speed-up 

 (c) affected and stop   

(d) unaffected motion 
 

 

53. The property of Inertia is most in  

 (a) a car   (b) a truck  

 (c) a rickshaw (d) a cycle 
 

54. The image formed by a plane mirror is  

 (a) Ercet and diminished 

 (b) Erect and enlarged 

 (c) Inverted and of same size 

 (d) Erect and of same size 
 

 

55. Two plane mirrors are placed making an 

angle of 60° in between them. For an object 

placed in between the mirrors, the number 

of images formed will be   

 (a) 3   (b) 5 

 (c) 6   (d) Infinite 
 

 

56. A real an enlarged image can be obtained by 

using 

 (a) convex mirror 

 (b) plane mirror 

 (c) concave mirror 

 (d) convex and plane mirror 
 
 

57. Convert 1mm Hg pressure in Pascal. 

(Density of Hg=13.6 x 103 kg/m3 & g= 9.8 

m/s2) 

 (a) 133.28 Pa  (b) 133.8 Pa 

 (c) 133.12 Pa  (d) 132.98 Pa 

 

 

50. ,d oLrq ftldk nªO;eku 2 fdxzk gS ij 10 N dk cy 3 

ls- rd yxk;k tkrk gSA oLrq fdruk osx izkIr djsxh] ;fn 

izkjEHk esa og fLFkj jgh gks\ 

(a)  15 m/s  (b)  20 m/s 

(c)  25 m/s  (d)  30 m/s 
 

51. ,d oLrq ,dleku Roj.k ls xfr djrs gq, 6 ls 84 eh- ,oa 11 

ls- esa 264 eh- pyrh gSA oLrq dh izkjEfHkd xfr gS 

(a)  2.0 m/s  (b)  1.9 m/s 

(c)  2.1 m/s  (d)  3.0 m/s 

  

52. nks foijhr ,oa cjkcj ds cy ,d xfreku oLrq ij yxk;s tkrs 

gSa rks oLrq dh xfr 

(a) izHkkfor gksdj lqLr gks tk;sxhA 

(b) izHkkfor gksdj rst gks tk;sxh A 

(c) izHkkfor gksdj :d tk;sxhA 

(d) vizHkkfor jgsxhA 

 

53. lcls vf/kd tM+rk ¼tM+Ro dh izkiVhZ½ gS 

(a) ,d dkj esa   (b) ,d VªØ esa 

(c) ,d fjD’kk esa   (d) ,d lkbfdy esa 

 

54. lery niZ.k ls cuk izfrfcEc gksrk gS 

(a)  lh/kk vkSj NksVk 

(b) lh/kk vkSj cM+k 

(c)  myVk vkSj leku vkdkj dk  

(d)  lh/kk vkSj leku vkdkj dk  

 
 

55. nks lery niZ.k tks fd ijLij 60° dk dks.k cukrs gq, j[ks 

x;s gSa ds e/; j[kh xbZ fdlh oLrq ds cuus okys izfrfcEcksa dh 

la[;k gksxh 
 

 (a)  3   (b)  5 

 (c)  6   (d)  vuUr 

 
 

56. ,d okLrfod ,oa vkdkj ls cM+h izfrfcEc dks izkIr fd;k tk 

ldrk gS 

 (a)  mÙky niZ.k ls   

 (b)  lery niZ.k ls  

 (c)  vory niZ.k ls   

 (d)  mÙky ,oa lery niZ.k ls 

 

57. 1 fefe ejdjh nkc dk ikLdy esa eku gksxk ¼ejdjh dk /kuRo% 

13.6 x 103 kg/m3 
,ao g= 9.8 m/s2) 

 

(a) 133.28 Pa  (b) 133.8 Pa 

(c) 133.12 Pa  (d) 132.98 Pa  
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58. A hydrometer is used to measure the 

following quantity of liquid 

 (a) Density  (b) Volume 

 (c) Relative density (d) Pressure 

59. On Fahrenheit scale, the boiling point of 

water is  

 (a) 100  ° F (b) 98.7 ° F 

(c) 212° F  (d) 220 ° F 

60. The expenditure of barricading of a circular 

field is Rs. 5280 at the rate of Rs. 24 per 

metre. The expenditure on ploughing of this 

field at the rate of Rs. 1.0 per square metre 

will be  

(a)  Rs. 1,925 (b) Rs. 3850 

(c)  Rs 4025 (d) Rs. 4125 

 

61. If the sector of circle of radius 4 cm made 

an angle of 30°,  then the area of the sector 

is  

 (a) 46.1 cm2 (b) 40.1 cm2  

(c) 4.19 cm2  (d) 41.9 cm2 
 

 

 

62. 
𝟏+𝒕𝒂𝒏𝟐𝑨

𝟏+𝒄𝒐𝒕𝟐𝑨
 is equal to  

 

 (a) sec2 A  (b) - 1 

(c) cot2 A  (d) tan2 A 

 

63. The angle of altitude of a 10 m high house 

from the point P on the ground is 30°. A flag 

is hoisted at the top of the house. The angle 

of altitude of top of flag from point P is 45°. 

The length of the pole of flag is – (√𝟑=1.732) 

 (a) 5.32 m  (b) 6.32 m 

 (c) 7.32 m  (d) 7.52 m 
 

64. The tangent of length 24 cm is drawn on a 

circle from a point Q. The distance of Point 

Q from centre is 25 cm. The radius of circle 

is  

 (a) 7 cm  (b) 12 cm 

 (c) 15 cm  (d) 20 cm 

 

65. A shopkeeper bought locks at the rate of 8 

locks for  Rs 1700 and sold them at the rate 

of 12 locks for Rs 2850. The number of 

locks he should sell to earn a net profit of Rs 

2250 . 

 (a) 100  (b) 110 

 (c) 105  (d) 90 

58. gkbM ªksehVj dk iz;ksx rjy in ªkFkZ esa fuEu dks ekius esa gksrk gS 

 (a)  /kuRo         (b)  vk;ru 

 (c)  vkisf{kd ?kuRo         (d)  nkc 
 
 

59. QkWjsughV FkEkkZehVj ls ekius ij ty dk DoFkukad gS 
 

(a) 100  ° F  (b) 98.7 ° F 

(c) 212° F         (d) 220 ° F 
 

60. ,d o`Ùkkdkj [ksr ij : 24 izfr ehVj dh nj ls ckM+ yxkus 

dk O;; : 5]280 gSA bl [ksr dh : 1.0 izzfr oxZ eh- dh nj 

ls tqrkbZ djkus dk O;; gksxk  

 

(a)  Rs. 1,925  (b) Rs. 3850 

(c)  Rs 4025  (d) Rs. 4125 

 
61. f=T;k 4 lseh okys ,d o`Ùk ds f=T;[k.M dk dks.k 30° gS] dk 

{ks=Qy gksxk 

 (a)  46.1 lseh2    (b) 40.1  lseh2  

 (c)  4.19 lseh2   (d) 41.9  lseh2  

 

62. 
𝟏+𝒕𝒂𝒏𝟐𝑨

𝟏+𝒄𝒐𝒕𝟐𝑨
  cjkcj gS 

 

(a) sec2 A           (b) - 1 

(c) cot2 A           (d) tan2 A 

 
 

63. Hkwfe ds ,d fcUnq P ls ,d 10 eh- Å¡ps Hkou dk m=;u dks.k 

30° gSA Hkou ds f’k[kj ij ,d /ot dks ygjk;k x;k gS vkSj 

fcUnq P ls /ot ds f’k[kj dk m™k;u dks.k 45° gSA 

/otnaM dh yEckbZ gS&(√𝟑=1.732) 

(a) 5.32 eh          (b) 6.32 eh 

(c) 7.32 eh          (d) 7.52 eh 

 

64. ,d fcUnq Q ls ,d o`Ùk ij Li’fj[kk dh yEckbZ 24 lseh rFkk 

Q dh dsUnz ls nqjh 25 lseh gSA o`Ùk dh f=T;k gS 

 
 

(a) 7 lseh         (b) 12 lseh 

(c) 15 lseh         (d) 20 lseh 

 

65. ,d nqdkunkj : 1700 ds 8 rkys dh nj ls rkys Ø; dj :  

2850 ds 12 rkys dh nj ls foØ; djrk gSA : 2250 dk ykHk 

vftZr djus gsrq mlds }kjk foØ; fd;s x;s rkyksa dh la[;k 

gksxh 

(a) 100   (b) 110 

(c) 105   (d) 90 
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66. There are 3 red and 5 black balls in a bag. 

One ball is drawn from the bag. The 

probability of being red is  

 (a) 
3

5
  (b) 

3

8
 

 (c) 
1

8
  (d) 

5

8
 

67.  An article is bought for Rs 300 and sold at 

a loss of 20 %. Its selling price is  

 (a) Rs 240  (b) Rs 252 

 (c) Rs 360  (d) None of these 
 

68. Two articles are bought for Rs 2600 each. 

One of them is sold at a loss of 4 % and the 

average selling price of both the articles is 

Rs 2652. The other article is sold at a profit 

percent or loss percent of  

 (a) loss 8% (b) loss 6 % 

 (c) profit 8 % (d) profit 6% 

 
69. The length of a rectangular garden is 4m 

larger than the width and its half perimeter 

is 36 m. The length of garden is  

 (a)  20 m  (b)  16 m 

 (c)  10 m  (d) 15 m 

 

70. The HCF of numbers 196 and 38220 is  

 (a) 196   (b) 200 

 (c) 296   (d) 300 

 

71. A command of 616 soldiers has to march 

behind army band containing 32 members 

in a parade. Band’s members and soldiers 

have to march the columns containing equal 

members. The maximum number of 

columns in which they can march is  

 (a) 6   (b) 12 

 (c) 10   (d) 8 

 
72. Sonia takes 18 minutes and Ravi 12 minutes 

in completing the round of a circular path 

of a playground. If they start running from 

a particular point to a particular direction 

at the same time then after how much time 

they will meet each other at the starting 

point? 

 (a) 60 minutes  (b) 30 minutes 

 (c) 36 minutes  (d) 24 minutes 
 

73. The distance between the points of co-

ordinates (2,3) and (4,1) is  

 (a) 4√3   (b) √52 

 (c) 2√2   (d) None of these 

66. ,d FkSys esa 3 yky vkSj 5 dkyh xsans gSaA bl FkSys ls ,d xsan 

fudkyh tkrh gS] blds yky gksus dh izkf;drk gS 

 

 (a) 
3

5
   (b) 

3

8
 

(c) 
1

8
   (d) 

5

8
 

67. ,d oLrq : 300 esa [kjhndj 20 % dh gkfu ij fcdrh gSA 

oLrq dh foØ; ewY; gS 

 (a)  : 240           (b)  : 252 
 (c)  : 360            (d)  buesa ls dksbZ ugha 
 

 
 

68. nks oLrq,¡ : 2600 izfr dh nj ls [kjhnh tkrh gSaA buesa ls 

,d dks 4% dh gkfu ds lkFk cspk tkrk gS] tcfd nksuksa 

oLrqvksa dk vkSlr foØ; ewY; : 2652 gSA nwljh oLrq dk 

foØ; gkuh izfr’kr vFkok ykHk izfr’kr ij fd;k x;k gS 

 (a)  gkfu 8%          (b)  gkfu 6% 
 (c)  ykHk 8%        (d)  ykHk 6%  

 

 

69. ,d vk;rkdkj ckx] ftldh yEckbZ] pkSM+kbZ ls 4 ehVj vf/kd 

gS dk v/kZifjeki 36 ehVj gSA ckx dh yEckbZ gS 

 

 (a)  20 eh         (b)  16 eh 

 (c)  10 eh         (d)  15 eh 
 

70. la[;k 196 ckSj 38220 dk HCF gS 

(a) 196   (b) 200 

(c) 296   (d) 300 

 
 

71. ,d ijsM esa 616 lnL;ksa okyh ,d lsuk dh VqdM+h dks 32 

lnL;ksa okys ,d vkehZ cS.M ds ihNs ekpZ djuk gSA nksuksa 

lewgksa dks leku la[;k okys LraHkksa esa ekpZ djuk gSA mu LraHkksa 

dh vf/ksdre la[;k] ftuesa os ekpZ  dj ldrs gS 

 

      (a) 6   (b) 12 

      (c) 10   (d) 8 

 
 

 

72. lksfu;k 18 feuV vkSj jfo 12 feuV ,d [ksy ds eSnku ds 

fdukjs cus o`Ùkh; iFk dk ,d pdj iw.kZ djus esa yxkrs gaSA 

;fn os nksuksa ,d gh fcUnq ls ,d gh le; ij ,d gh fn’kk esaa 

nkSM+uk izkjEHk djrs gaS] rks fdrus le; ckn os iqu% izkjfEHk 

djrs gaS] rks fdrus le; ckn os iqu% izkjfEHkd LFkku ij 

feysaxs\ 

 

 (a)  60 feuV   (b)  30 feuV 

 (c)  36 feuV   (d)  24 feuV 
 

73. fcUnqvksa ftuds funsZ’kkad (2,3) ,oa (4,1) gSa ds chp dh nwjh 

gS 

(a) 4√3   (b) √52 

(c) 2√2   (d) buesa ls dksbZ ugha 
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74. The points of co-ordinates (1,5), (2,3) and (-

2, -11) are  

 (a) co- linear   

(b) ends of a triangle 

 (c) ends of a triangle  

(d) ends of right angled traingle 
 

75. An aeroplane fly from an airport in the 

north direction with speed of 1000 kn/hr. At 

the same time another aeroplane fly from 

same airport in the west direction with 

speed of 1200 km/ hr. After 𝟏
𝟏

𝟐
 hours the 

distance between the both aeroplane is  

 (a) 300 km  (b) 3300 km 

 (c) 200√61 km  (d) 300√61 km 

 
76. Two poles of height 6m and 11 m are 

erected on the plan eground. The distance 

between the bottom part of these poles is 

12m. The distance between the top of these 

poles will be  

 (a) 11 m   (b) 13 m 

 (c) 15 m   (d) None of these 
 

77. A beautiful rainbow in the sky is due to the 

(a) dispersion of sunlight from a water droplet 

only.  

(b) reflection of sunlight from a water droplet 

only. 

 (c) reflection and refraction of sunlight from a 

water droplet only. 

 (d) refraction, dispersion and reflection of 

sunlight from a water droplet. 
 

78. The weight of an object may be assigned by 

using Newton’s  

 (a) First Law of Motion    

(b) second law of motion 

 (c) third law of motion    

(d)  laws of gravitation 

 

79. A current of 0.5 A is drawn by a filament of 

an electric bulb for 20 minutes. The amount 

of electric charge that flows through the 

circuit is  

 (a) 1C   (b) 10 C 

 (c) 600 C   (d) 300 C 

 

80. Which one among the following properties 

of a proton may change while it moves 

freely in a magnetic field? 

 (a) Speed  (b) Charge 

 (c) Mass  (d) Velocity 

74. fcUnq ftuds funsZ’kakd (1,5), (2,3) ,oa (-2, -11) gS og  

 

 (a)  ljs[kh gS    

 (b)  f=Hkqt ds ‘kh”kZ gSa 

 (c)  lef}ckgq f=Hkqt ds ‘kh”kZ gS 

 (d)  ledks.k f=Hkqt ds ‘kh”kZ gS 
 

75. ,d gokbZ tgkt ,d gokbZ vMMs ls mÙkj dh vksj 1000 

fdeh@?kaVk dh pky ls mM+rk gsSA blh le; ,d vU; gokbZ 

tgkt mlh gokbZ vM~Ms ls if’pe dh vksj 1200 fdeh@?kaVk 

dh pky ls mM+rk gSA 𝟏
𝟏

𝟐
?kaVs ckn nksuks gokbZ tgktksa ds chp 

dh nwjh gksxh  

 

 (a) 300 km  (b) 3300 km 

 (c) 200√61 km  (d) 300√61 km 

 

76. nks [kEHks ftudh Å¡pkbZ;k 6 eh ckSj 11 eh gS rFkk ;s lery 

Hkwfe ij [kMs gsA ;fn buds fupys fljksa ds chp dh nwjh 12 

ehVj gS] rks buds Åijh fljksa ds chp dh nwjh gksxh 

(a) 11 m   (b) 13 m 

 (c) 15 m   (d) buesa ls dksbZ 
 

 

 

77. vkdk’k esa lqanj banz/kuq”k fdl dkj.k ls curk gS \ 

 (a)  dsoy ty fcanqd ls lw;Z izdk.k dk izdh.kZu   

 (b)  dsoy ty fcanqd ls lw;Z izdk.k dk ijkorZu 

 (c)  dsoy ty fcanqd ls lw;Z izdk’k dk ikjorZu vkSj 

viorZu 

 (d)  ty fcanqd ls lw;Z izdk’k dk viorZu] izdh.kZu vkSj 

ikjorZu 

 

78. fdlh fi.M dk Hkkj U;wVu ds fdl fu;e dk iz;ksx dj 

fu/kkZfjr fd;k tk ldrk gS\  

 

 (a) izFke xfr fu;e   

 (b)  f}rh; xfr fu;e 

 (c)  rr̀h; xfr fu;e 

 (d) xq:Rokd”kZ.k fu;e 

79. ,d fo?kqr~ cYc dk rarq 0-5 A dh /kkjk dks 20 feuV ds fy, 

[khaprk gSA ifjiFk esa izokfgr gksus okys fo|qr~ vkos’k dh ek=k 

fdruh gSA 

 

 (a) 1C   (b) 10 C 

 (c) 600 C              (d) 300 C 

 

80. izksVksu dk fuEufyf[kr esa ls dkSu lk ,d xq.k/keZ ] fdlh 

pqacdh; {ks= esa mlds eqä :i ls xfreku gksus ij cny 

ldrk gS\  

 (a)  pky       (b)  vkos’k 

 (c) nzO;eku       (d) osx 
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81. Power required by a boy of mass 30 kg to 

run up a staircase of 40 steps in 10 seconds is 

(Height of each step is 15 cm) 

(Take g =10 m/s2) 

 (a) 1800 Watt 

 (b) 180 Watt 

 (c) 18000 Watt 

 (d) 18 Watt 

 

82.  

 
The figure given above shows the 

temperature (T)- time (t) plot when we start 

heating a piece of naphthalene. The 

temperature (T*) at the plateau of the curve 

signifies 

 (a) boiling point of napthelene 

       (b) freezing point of napthelene  

 (c) melting point of mathelene 

 (d) the temperature  when napthelene 

undergoes a chemical change upon heating

  

83. A peice of paper and  a coin both having the 

same mass and dropped from the 10th floor 

of a building. The piece of paper would take 

more time to reach the ground because 

 (a) gravitational pull on the paper is less then 

the coin.    

(b) buoyant forceon the piece of paper is more 

than that on the coin 

 (c) buoyant force on the coin is more and acts 

in the downward direction   

(d) the piece of paper takes a longer path to 

reach the ground. 

84. During sunrise and sunset, sun appears 

      reddish – orange because 

 (a) during that time sun emits only reddish 

orange light    

(b) all other colours are absorbed by the 

atmosphere 

 (c) reddish-orange light is least sacattered by 

the atmosphere    

(d) all other colours apart from raddish orange 

are reflected back by the atmosphere. 

81. 30 kg nzO;eku okys fdlh yMds dks 10 lsds.M esa 40 

ik;nkuksa okyh lhf<;ksa ij p< tkus ds fy, fdruh ‘kfä vko’;d 

gksxh\ ¼izR;sd ik;nku dh Å¡pkbZ 15 lh eh gSA½ 

¼ g =10 m/s2
yhft,½ 

(a) 1800 Watt 

 (b) 180 Watt 

 (c) 18000 Watt 

 (d) 18 Watt 
 

 

82.  

 

Åij nh xbZ vkdf̀r esa rki  (T)- le; (t)  dk vkys[k 

n’kkZ;k x;k gS tc uS¶Fkuhy ds ,d  VqdMs dks rkfir djuk  

izkjaHk fd;k tkrk gSA odz ds IySVks ¼fLFkajkad½ ij rki (T*) 

D;k lwfpr djrk gSA  

 

 (a)  uS¶Fkuhy dk DoFkukad   

 (b)  uS¶Fkuhy dk fgekad 

 (c) uS¶Fkuhy dk xyukad    

 (d) og rkieku ftl ij ] rfir fd, tkus ij uS¶Fkuhy esa 

,d jklk;fud ifjorZu gksrk gS 
 

 

83. dkxt dk ,d VqdMk vksSj ,d flDdk] nksuksa leku 

nzo;eku ds] ,d bekjr dh 10 ohsa eafty ls fxjk, 

tkrs gSA /kjkry rd igq¡pus  ds fy, dkxt dk 

dkxt dk VqdMk vf/kd le; ysxk] D;ksafd  

 (a)  flDds dh vis{kk dkxt ij xq:Roh; d”kZ.k de gksrk gS 

 (b)  flDds dh vis{kk  dkxt ds VqdMs ij mRIykou cy vf/kd 

gksrk gS 

 (c) flDds ij mRIykou cy vf/kd gksrk gS vkSj og v/kkseq[kh fn’kk 

esa fØ;kfUor gksrk gSA   

(d) Hkwfei”̀B rd igq¡pus ds fy, dkxt dk VqdMk vis{kkd̀r yack 

iFk r; djrk gSA 

 

84.lw;ksZn; vkSj  lw;kZLr ds le;] lw;Z jäkHk ukjaxh jax dk izrhr 

gksrk gS D;kasfd 

 

 (a)  ml le; lw;Z dsoy jäkHk-ukjaxh izdk’k dk mRltZu djrk 

gS  

 (b)  vU; lHkh jax ok;qe.My }kjk vo’kksf”kr fy;s dj tkrs gS    

 (c) jäkHk-ukjaxh izdk’k dk] ok;qe.My }kjk lcls de izdh.kZu 

gksrk gSA    

  (d)  jäkHk-ukjaxh jax ds vykok ckdh lc jax ok;qe.My }kjk 

okil ijkofrZr dj fn, tkrs gS 
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85. Ohm’s law can also be taken as a statement 

for  

 (a) conservation of energy 

 (b) conservation of electric charge 

 (c) conservation of angular momentum  

(d) non conservation of momentum of the 

flowing charges 

 
86. Which one among the following is not a 

factor that affects direction of wind? 

 (a) Pressure gradient  

(b) Friction  

 (c) Magnetism 

 (d) Coriolis effect 

 

87. Presbyopia is a visual defect caused by  

 (a)Elongation of the eye ball   

(b) Shorthened curvature of the eye  lens 

 (c) Weakening of the ciliary muscles  

(d) Gradually increasing flexibility of the eye 

lens 

88.  Absorption of ink by blotting paper 

involves 

 (a) Viscosity of ink 

 (b) Capillary action phenomenon 

 (c) Diffusion of ink through blotting 

 (d) Siphon action 
 

89. In electronics the terms IC denoted 

 (a) Industrial control  

 (b) Integrated circuit 

 (c) Internal combustion 

 (d) Integrated conductance 
 

 

90. The forbidden energy gap in 

semiconductor: 

 (a) Lies just below the valence band 

 (b) Is the same as the valence band 

 (c) Lies just above the conduction band 

 (d) Lies between valence band and conduction 

band 
 

  

85. vkse fu;e dks fdlds fy, ,d izdFku ds :i esa Hkh 

fy;k tk ldrk gS\  

 (a)  ÅtkZ lj{k.k  

 (b)  fo|qr vkos’k laj{k.k  

 (c) dks.kh; laosx laj{k.k   

(d)  izokgh vkos’kks ds {kaosx dk vlja{k.k 

 

86. fuEufyf[kr esa ls dkSu lk ,d  iou dh fn”kk dks 

izHkkfor djus okyk dkjd ugha gS\  

 (a)  nkc izo.krk 

 (b)  ?k”kZ.k  

 (c) pqEcdRo   

 (d) dkWfjvkWfyl izHkko 

 

87. tjknwjnf”Zkrk,,d n`f’V nks’k, fdl dkj.k ls gksrk gS\  
 

 (a)  us= xksayd dk nh?khZdj.k 

 (b)  vfHkus= ysUl dh y?kqdr̀ oØrk 

 (c) i{ekHkh isf’k;ksa dk detksj gksuk 

 (d)  vfHkus= ysUl dh Øe’k% c<rh uE;rk 

 

88. तय ही सोख पि द्व र  तय ही अवशोिण में होत  है| 
 (a) स्याही की श्यानता 
 (b) केशिका क्रिया िररघिना 
 (c) िोषण द्िारा स्याही का पिसरण 

 (d) साइफन क्रिया 
 

89. इिेक्ट्र निक्ट्स में IC शब्र्द सूर्चत करत  है: 
 (a) इंडप्स्ट्रयल कंट्रोल 

 (b) इंिीगे्रिेड सक्रकव ि 

 (c) इंिनवल कंबस्िन 

 (d) इंिीगे्रिेड क्न्ढक्निेंस  
 

90. अििच िक में वष्जित उज ि अन्तर ि 

 (a) संयोजकता बैंड के ठीक नीच ेरहता है 

 (b) संयोजकता बैंड के समान ही है 

 (c) चालन बैंड के ठीक ऊिर रहता है 

 (d) संयोजकता बैंड और चालन बैंड के बीच में रहता है 
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Rough Work

 


